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MURURIA  SECONDARY SCHOOL

FORM 4 BIOLOGY ASSESSMENT TEST TERM 3 2014    
NAME: ……………………………ADM.NO. …………CLASS:……
1.  The number of stomata on the lower and upper surface of two leaves from plant species X and Y were counted under the field of view of a light microscope.

The results were as shown in the table below.

	
	Number of stomata

	Leaf
	Upper surface
	Lower surface

	X
	4
	12

	Y
	20
	23


a.  Which of the two leaves would be expected to have a lower rate of transpiration?

b.  Give a reason for your answer in (a) above.

2.  The diagram below represents a transverse section of an ovary from a certain flower.

a.  i.  Name the structure labeled W

ii.  Name the type of placentation illustrated in this diagram. 
b.  Give an example of a plant whose flowers have the type of placentation named in (a) (ii) above.

3.  The diagram below shows a section through a plant organ.

a.  i.  Name the class of the plant from which the section was obtained.  1 mk

ii.  Give a reason for your answer in (a) (i) above.
4.  Name the causative agent of the following disease in humans.  1 mk

Typhoid – 

5.  State three structural differences between arteries and veins in mammals.  3 mks

6.  An experiment was carried out to investigate the effect of temperature on the rate of a reaction catalysed by an enzyme.  The results are shown in the table below.

	Temperature oC
	Rate of reaction in mg of products per unit time

	5
	0.2

	10
	0.5

	15
	1.8

	20
	1.1

	25
	1.5

	30
	2.1

	35
	3.0

	40
	3.7

	45
	3.4

	50
	2.8

	55
	2.1

	60
	1.1


a.  On the graph provided draw a graph of rate of reaction against temperature.  6 mks 

b.  Account for the shape of graph between 5oC and 40oC.  2 mks 

7.  A pea plant with round seeds was crossed with a pea plant that had wrinkled seeds.

The gene for round seeds is dominant over that for wrinkled seeds.

Using letter R to represent the dominant gene state the genetype and phenotype of F1 generation.  Show your working.  4 mks  


